SHSEEE 7

KIRGEEHRERHER (BWE)

1. EEE

2. BEEIG

3. FAMEEXR

4. FEBRE

5. ABE#HRY)

6. HERRA
(1)EBABRF
(2) A5
(3) HIAF i

(4) A FHH

7. sR#ENE
(1) JEH B
(2) Jm i35
(3) JE i Ft

8. BRFEHA
(1)EBABRF
(2) EHIA ST
(3) HIAF i

(4) A FHH

EFREEMEE

EFREMTAKRMKETRIAF 1 —2
KR #ES

9. ERE
(1) B MA178 (£) 93050 ~
(2) 57 KR 535 R OB [ 5% 55 15

10. HEKRE

(1) B F1BERVELIBEDRILH
8304 ~ 9B 15%

(2) 57 KRR &5 HEREE

11. BESHE JRDEBY

12. FERZ

11A268-288| 1 2 3 4 5 6 7 8 9 10 | 11

SHSEEEFEHREHEEE H7EKRHESE
=P/ B H ZB | E1FERERFZ
£18 11A26H S| 11:10
%2H 1182780 A 10:35
%30 115288 X 11:10
%48 128 3H S| 10:40
%50 12H4H A 10:20
FE6H 12A5H X 10:40

118158 (7K)

11128 (B) 9BF~126F
BE [ 55t 5 15

DOHERAE QFXEHKIT
Q)% s

@DIRAD B EED HHT-BILIRAFKITD
i E RS
1BEIZDE200M

11A12B  (B) 9FE~128%
BE [ 5% 55 15

OR#EMfEHE QAR REFE
QFFI 2 B+ £ S B 5
@FWS>FEEREELL

118128 (B) 9B~128F%
RE [ 3% 5 15

OEAFERAE QBFREFL

HEH. YEEECICEBFRER AN
FESNTNDEIZDONTIX., YD
BRBETICRIFIIZFIRETHIL,

1 AIZDZ200M

EEAES|10:20/10:55/11:30/12:05]12:40|13:15|13:50| 14:25| 15:00| 15:35|16:10

HiE 11:10/11:45/12:20/12:55|13:30(14:05|14:40|15:15|15:50|16:25|17:00

1MA278 | 1 2 3 4 5 6 7 8 9 10 | 11 | 12

REEMES| 9:45/10:20/10:55/11:30/12:05|12:40|13:15|13:50| 14:25| 15:00| 15:35| 16:10

HiE 10:35/11:10{11:45/12:20{12:55|13:30|14:05|14:40/15:15|15:50|16:25|17:00

12A38-5H| 1 2 3 4 5 6 7 8 9 10 | 11

HEEMES| 9:50 110:25/11:00/11:35/12:10|12:45|13:20| 13:55| 14:30| 15:05| 15:40

H*iE 10:40/11:15/11:50/ 12:25/13:00(13:35|14:10|14:45|15:20|15:55|16:30

12H4H 1 2 3 4 5 6 7 8 9 10 | 11 | 12

SEEAES| 9:30 |10:00/10:30/11:00/11:3512:10|12:45|13:20| 13:55| 14:30| 15:05| 15:40

H*iE 10:20/10:50|11:20/11:50|12:25/13:00|13:35|14:10/14:45|15:20|15:55|16:30

13. EE RIS ATILERE
Akl

14. ZOfth

(1) C2#kIE, 1FAE2LHE

Q)EEBRERVZ2ROFELEEMERANREE

(B) CHBMICATSIN TOWENWEREIFEFRREERVRIEECEEICELD
(MHHEEDOXRF., () EFREXTRZELTITVET FREFITOVTIE,
(—) EFREEXRICBEVEDLEZEL,
B)HREEDIZMIZH->TIIRBRAREL. HERZET

(B)HEFIRICKY. COBMICHARSNTWSER - EFHFITOVT. EET D
BLENHYET,

15. EE-HAlEE

REAR—YHE L4

1 HEE® HS5ILYFRIFLUL

2 BIBEE 4mLlE57ke. 3#%55ke. fLE2keiR

3 BIE HERAR—VHEHE
HHHRE
HEBBEZEERE

HEEHK Y5TLYRRBIHRUT

2 BIEEE 56kg tE2kgEEL. ERIDBATIZ
EBEEGS-EIX2kegME

WERRRE

FENBEERE

3 BlE

AXEHR
1 HEER Y57LyFR2R(EFTEL—KRE)
2 BiHEE 55kg. ttE kel

JRAZRTERRE
2a—Fx—RTYT
AT MR

ER LA

R4




s N=E-2]
SHSEE #FH7E KiRFEE #SEHEE
(84 FH)
i [id A 7 7 L > N 3
i A FHIH - Hi Hi
X 4 A= Afk B1#k B2#k C1#k C2#k 2%
S - @D 1,400 @ 1,600 © 1,600 ® 1,600 @ 1,600 ® 850 @ 1,300 3 1,300 @ 1,300 D 1,300 ® 1,600 1R
» 900 700 — 530 — 530 350 - + - + - 2 7 3,000
1 g w315 EF 245 % iE — 186 = 1% 186 A 1B+ B - F - & T A 1,050
11A26H 5180 M 140 # & £ 106 8 3% 106 #7048 & M % M8 g 23”600 14,515
2 |s £ 17 91 = 69 = 69 46 = = = xR 300
S 63 49 37 37 25 71 & 20
A - B @ 1,600 @ 1, 600 © 1,600 ® 1,600 @ 1,600 ® 1,400 ® 1,300 @ 1,300 @ 1,300 @ 1,300 @ 850 @ 1,600 12 R
700 — 530 — — 530 350 — — — 350 &~ 2.000
2 E = 245 & = 186 o8 & 186 5 128x F t # N B 123 * 700
11827H 140 B 3% 106 & M % 106 0% & M % & % 70 2400 12,732
(B |# 91 = 69 = -4 69 46 -3 = = 46 ;’,‘j 260
49 37 37 25 25 140
SRS - I @D 1,600 @ 1,600 @ 850 ® 1,600 @ 1, 60! @ 1,400 3 1,400 @ 1,400 (D 1,400 ® 1,400 ® 1,40 | 11 R
700 — 700 530 — 350 — — — 750 —
3 H — 45 = fF 245 A 186t 1E - 1Bz # = B m # B2 — 263 B2 = E
118288 140 8 3% 140 106 1% /0% % % % 8 w150 MM 10, 615
() & 91 = 91 69 = 46 = = = 98 =
49 49 37 25 53
S - @ 1,600 1,600 @ 1,600 ® 1,400 @ 1,400 ® 1,300 ® 1,300 @ 1,300 @ 1,300 @ 1,300 ®1.30] 11R
— ~ 3,500 430 — 430 — 350 -+ - + - 650 —
4 g -~ &7 1,25 m 151 & & x 151 + 4E A 18+ F - F = # Cl —  228C1 = &
12R3H Y47 00 g6 % 4 M@ g6 M 3% 708 & % 4§ M8 i w130 & BB 13,871
(B) |& ~&1 s 56 = 56 = 46 = = = 85 =
= 245 30 30 25 46
B - B @ 850 @ 1,600 @ 1,600 @ 1,600 ® 1,400 @ 1,300 ® 1,400 ® 1,400 @ 1,400 3 1,400 D 850 @ 1,300 12 R
% 1,200 430 — — 430 430 350 — — — 350 550
5 B no 420 — 151 = & = £ 151 151 5 18x # + £ N & 123 €2 — 193
12H4H v 240 86 8 i M8 3 M 86 86 /0% B % 1 8 #© 70 w110 9,899
(B) |# 5 156 56 = = 56 56 46 = = = 46 72
3 84 30 30 30 25 25 39
A - B @ 1,600 —EERE © 1,400 ® 1,400 @ 850 ® 1,400 B 1,400 @ 1,400 3 1,400 @ 1,300 @®1,30] 11 R
1,200 1,100 430 — 430 350 — — — 550 —
6 B - 4202 = 385 ~ 151 £+ & 151 - 13- # = & & c2 = 193 C2 = #&
12858 E #0240, B 220 86 B & 86 o708 & M ;oA B & M 110 & B 10, 668
() e 5 156 5 143 56 = 56 46 = = = 72 =
84 77 30 30 25 39
e 17.5 #% 5
HE T 24 Hifif 105 105 105 105 105 68 200] 150] 105
X 8,225 4,025 10, 150 8, 352 9, 036 15, 964 16, 548] 72, 300
O FA A 123 35 158
HAETFY AR 2,418 2,478 9,324 11, 246 13, 356 18, 564 13,095] 70, 541




